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3. Suppose fis defines as:
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S1.5 | Limits | One - Sided Limits | Applications: Constructing Graphs

Work on In grovps (s mir\
TN qo owr as o class
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2. Instruction: Construct a graph that satisfies the following conditions:
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3. Instruction: Construct a graph that satisfies the following conditions:
e Domain: All real numbers

¢ Jim, ) =1

° xll%l+ f(x) = 4but }Ci_rg f(x) DNE
e f(0)=0

o limf(x) = oo

im0 =2

@ T'\\ .W\dl\l\‘duall&} (s Mmin )

@ Parther vp % trode c]raphs
©)

check 1o s if Y our” paffh(fS c}raph satisfrey +he  Conditions

N

IE nov, explain wha+ S OFF (5 min)

o ovtr a5 oa clar)
VR X= |

Mamx ansSwerS pbsﬁblt!f




